Installation manual

AS-173-190619

N\

TRIBUS TriflexAlIR L&

INNOVATIVE MOBILITY



dadyd

/ /
/

Item | Part number Description Qty
V-0000553002 | TriflexAIR without support 2
0000151111 DIN9021 M10x30 Plain washer 2
0000151122 DIN126 M10 Plain washer 4
0000152104 DIN985 M10 Prevailing torque hexagon nut 6
4
2
2

0000152200 Torx pan head drilling screw 4.8x35mm black
0000558101 T-bolt M1 TN1 (back of seat leg, 2pcs.)
0000558151 T-bolt M2 TN (front of seat leg, 2 pcs.)

~NjoafjvejwN =

AS-173-190619

TRIBUS

INNOVATIVE MOBILITY




AS-173-190619

()]
>
m
14
-

>
-
-
m
o
=
]
>
-
<
>
o
r4
r4




Large rings on the backside!

(e)]
=
O
o
(o))
=

-173-

AS

TRIBUS

INNOVATIVE MOBILITY




40 Nm +10% (6x)

AS-173-190619

INNOVATIVE MOBILITY




AS-173-190619

INNOVATIVE MOBILITY




T RIBUS

INNOVATIVE MOBILITY

Creators of innovative mobility

All rights reserved. All information may be subject to changes and typographical errors.

Proostwetering 71 The Netherlands info@tribus-group.com
3543AC UTRECHT +31 30 669 50 20 www.tribus-group.com



